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NO| t K4 F—L% k- B (v ik
1] 5 H#E BR ARC 6 1 3.52
2 | B EiE ZERK ARC 6 4 4.05
3| B mE BE BERILAD =T 5 6 4.18
4 | B A mm BRINYFL—IUYT | 6 17 4.58
°o | B Bl =X FRINVFL—2UT | b 18 4.59
6 | B #HAR EX B JIIRE £ &3 5 14 4.29
7|8 B F=E TS-SKANDA 6 2 4.01
8 | B 58 #WA TS-SKANDA 5 5 4.09
9 | & B Em TAC 6 10 4.26
10| % e #F TEERAC 5 3 4.03
1| % B = fEERAC 5 7 4.19
12| % vl N JAC—A 6 9 4.23
14| % BE L& ARC 5 12 4.28
15| % NIF 225 ARC 5 8 4.20
16 | & FE EF ARC 5 11 4.26
17| & P FX EBHRC 5 21 5.25
18| & | tkakx & KHFRY—LKJIC | 6 15 4.46
19| % FIE MER KHTR)—FKJIC | 6 13 4.29
21 | = | WLt BEF B JIIRE £ &R 5 16 4.57
24 | & ik 28 BARSVF—X | b 19 5.08
25 | & FkE ¥R WMFEU1=7 5 20 5.10




